<SELF$1608pH RETHERTHER>

PR S BERFTERE : pH 9.2 [10&&HRK]
HESEHTER 3#1
®|1 BRI EBIDMREHE
#hetiE 2NHE MR7E

KOo101 K0102 | K0102-1 |=&2615/Lbk
REEEL 257 9 222 19 7
FEZR (%) 100.0 3.5 86.4 7.4 2.7
FME(mg/L) 9.206 9.210 9.205 9.226 9.193
RAME(mg/L) 9.54 9.24 9.54 9.44 9.23
/JME(mg/L) 7.20 9.17 7.20 9.19 9.14
FEfR= (o] 0.135 0.022 0.144 0.054 0.029
R [CV%] 1.47 0.24 1.57 0.58 0.32
FH1UDAIER [Qq] 9.190 9.200 9.190 9.200 9.185
FOUE (X571 77>]) [Q.] 9.210 9.210 9.210 9.220 9.190
FIMUDAIER [Q5] 9.230 9.230 9.230 9.225 9.210
o firEEE [IQR]  (Qs-Q4) 0.040 0.030 0.040 0.025 0.025
IERPUsiEEE [S]  (IQRx0.7413) 0.0297 0.0222 0.0297 0.0185 0.0185
OJCR bRZEENMFREL ((S/Q,)%100] (%) 0.32 0.24 0.32 0.20 0.20
FROMED £ 10%DRERFIEX 256 9 221 19 7
FROMED+10%DLEEE (%) 99.6 100.0 99.5 100.0 100.0

R2 DG EBOREHE

#wstiE 2hiE ﬁ*gfﬁ
RS 257 257
e (%) 100.0 100.0
TIME(mg/L) 9.206 9.206
BRAME(Mmg/L) 9.54 9.54
B/JME(mg/L) 7.20 7.20
FER= (o] 0.135 0.135
R [CV%] 1.47 1.47
F1M7ER [Q,] 9.190 9.190
FOUE (A5 77>)  [Q,] 9.210 9.210
F3MMUER [Qs] 9.230 9.230
uafzEEE [IQRI (Q5-Q4) 0.040 0.040
IERRmMSzEEHE [S]1 (IQRx0.7413) 0.0297 0.0297
0O/ CR MRZEENMREL ((S/Q,)%100]) (%) 0.32 0.32
FRIBAD+10%D5HERFTEX 256 256
FRIYED£10%DLEEER (%) 99.6 99.6
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https://www.jemca.or.jp/analysis_top/pro_test/pro_comment/
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RE(mg/L)
H1 22 EERSHE
70
60
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z
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i
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20
10 I
0 - — . - . —— — =l ._- I-_ - I . . [ | -
=9.0 9.07- 9.09- 9.11- 9.13- 9.15- 9.17- 9.19- 9.21- 9.23- 9.25- 9.27- 9.29- 9.31- 933<
7 9.09 9.11 9.13 9.15 917 9.19 921 9.23 9.25 9.27 9.29 931 933 :
mK0101 0 0 0 0 0 1 1 3 3 1 0 0 0 0 0
H K0102 2 1 5 2 5 13 29 65 51 23 10 5 5 4 2
W K0102-1 0 0 0 0 0 0 2 6 8 0 0 0 1
m[E&2618/EK 0 0 0 0 1 3 1 2 0 0 0 0 0
RE(mg/L)
22 HERAGEREHSHE
80
70
E 60
=
P 50
'l
40
30
20
10
<907 9.07- 9.09- 9.11- 9.13- 9.15- 9.17- 9.19- 9.21- 9.23- 9.25- 9.27- 9.29- 9.31- 933<
= 9.09 9.11 9.3 9.15 9.17 919 9.21 9.23 9.25 9.27 9.29 931 9.33 '
HGE 2 1 5 2 6 14 35 75 64 26 10 5 5 4 3
R (mg/L)
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